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PART -1
GENERAL STUDIES
Viren Dangwal was awarded Sahitya Academy Award for his book
(a) Syahi Tal (b)  Isi Duniya Mein
(c) Dushchakra Mein Srishta (d) Kal Ki Baat

Environmental Conservation Programme launched by the Government of Uttarakhand,
during the Harela Festival-2015, is known as

(a) Hamara Paudha, Hamara Paisa

(b) Hariyali

(c) Ped Bachao

(d) Hamara Ped, Hamara Dhan

In which of the following State of America, is the Silicon Valley situated ?
(a) Florida (b) California (c) Texas (d) Colorado

‘Hamari Dharohar’ scheme in India is introduced to

(a) promote survival, protection and education of girl child.

(b) provide day care services to children of working women.

(c) 1improve language development by creating interest in reading and writing.
(d) preserve rich heritage of minority communities of India.

The golden rule of fiscal policy is that the governments are expected to borrow over the
cycle to finance

(a) Current expenditure (b) Old loans

(c) Investments (d) Imported consumer goods

The Commission for Agricultural Costs and Prices (CACP) recommends minimum
support prices at national level for

(a) 20 crops (b) 22 crops (c) 23 crops (d) 25 crops
Which metal is found at the following places-Hutti, Kolar and Ramgiri in India ?

(@) Aluminium (b) Copper (c) Silver (d) Gold
Agricultural credit flow target by Government of India for 2014-15 has been fixed at
(a) 6,00,000 crore (b) ¥ 8,00,000 crore

(¢) 7,00,000 crore (d) 9,00,000 crore

Which of the following is dubbed as a ‘living fossil’ ?
(a) Sphenodon (b) Toad (c) Echidna (d) Crocodile

Which of the following is not a constitutional prerogative of the President of India ?
(a) Returning back an ordinary bill for reconsideration

(b) Returning back a money bill for reconsideration

(c) Dissolution of Lok Sabha

(d)  Summoning of the session of the Rajya Sabha
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HAT - |
HTHTY AegTq
R STTaTel DI Ao SrpTaH] YREBR &1 7 o1, Ih! JIdh
(a) TR dTer & fory (b) IR & foy
(c) ‘g¥aH H JgET & oy (d) “BA DT B foU

BN Ud-2015 & SR, STRIGUS WRBR FRT Y [ T qATIR0T HRETU-BTRIhH BT AT
g

(a) BHWRTYIET, SHRT U4 (b) BRITN

(c) Us TR (d) TARTUS, BHARTEH
IRPT & foosg uia # Rifersr ot R 8 2

(a) TAIRST (b) ‘Bfermifran (c) <IN (d) BIARTSI

HRA ¥ AR eRIEY IS A & T8 &

(a) R3] arferant @t STARSHIIAT & HIcATE, S9Td Wefvr 9 e 2q
(b) PR AR & Tedi Bl ST ST HATY UG B 5
(c) UG- H fer UgT - I fIhTd H GoR H7A B

(d) WRA & ATARID ST DI TG (IR b HRE] B

RIST YR ST &1 T i 9 2 6 AR SUR=shI SER gren & <+ 7

(a) TATAIIT D (b) READS b
(c) fHaur® (d) SATATIIT SUHTRIT I3 b

DY SN U DI AN (CACP) TSR TR IR GAdH FHLT Hod Bl SRIfT ol §
(a) 20HHAisd (b) 22WHHFAlzd (c) 23FHdizg  (d) 25 HAAI TG

R & FrferRe Tt — &€, PIAR iR IR & BI T g It et & 2

(a) USGMAF=H (b) drEl (c) drar (d) T
WRA TRBR §RT2014-15 & (ol ST ARG &1 e FegiRa fovam 1w &

(@ % 6,00,000 PIS (b) T 8,00,000 PIS

(c) % 7,00,000 PIS (d) % 9,00,000 PIS

o=t 9§ 9 fopd SNfaa Shrares 97 SIrar 8 2

(a) THASHE (b)) <IS (c) Sl (d) TR

ferefeRad § @ YT & I ufd &1 B A1 Faenfe e 721 & 2
(a) AERY fA9TH BT GATAR T ITIH ACHT |

(b) & fAEIH B! AR T 999 ACHT |

(c) I FHT | HAT |

(d) TSI FHT BT AL AT |
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Upto what age, can the judges of Supreme Court serve ?
(a) 62 years (b) 68 years (c) 65 years (d) 70 years

What is the normal tenure of a Panchayat ?
(a) 3 years (b) 4 years (c) 2years (d) S5 years

Economically the most important rocks in India are
(a) Gondwana rocks (b) Dharwar rocks
(c) Vindhyan rocks (d) Cuddpha rocks

Gandak river is associated with one of the following river systems :
(a) Brahmaputra (b) Indus
(c) Ganga (d) None of these

At what altitude are Alpine forests found ?
(a) 1800 -2000 m (b) 900 - 1800 m
(c) 2000 -2500 m (d) 2900 -3500 m

Where is the First Biosphere Reserve of India is located ?
(a) Nilgiri (b) Nanda Devi (¢) Sunder van (d) Great Nicobar

The maximum rainfall in India is received from
(a)  South-West monsoon (b) Retreating monsoon
(c) North-Eastern monsoon (d) Cyclones

Integral coach factory is located at
(a) Varanasi (b)  Chitranjan (c) Gorakhpur (d) Perambur

Who among the following deciphered the Mauryan Brahmi for the first time ?
(a) William Jones (b)  James Princep
(c) Alexander Cunningham (d) John Marshall

Which Indian National Park is famous for Rhinoceros population ?
(a) Kaziranga (b) Jim Corbett
(¢) Ranthambor (d) Bannerghatta

Which of the following term was not mentioned in Rig Veda ?
(a) Jana (b) Janapada (c) Samgrama (d) Gram

Bhimbetaka is famous for
(a) Pre-historic paintings (b)  Stupas
(c)  Sculptures (d) Temples
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o< 3 e, HalT=d =ITaTerd & =ATATefiel B ) Fahdl & 2

(a) 62799 (b) 6874 (c) 65dY (d 7099
UTId BT AT HRIBTl FIT BT & ?

(a) d=IY (b) IRIY (c) TIay (d) dUraay
anfdre efee & R # waifdres Ayl 9 8

(a) TeaMTId (b)) URdTS I (c) faema 9 (d) HsHTIA

MUSH Al T § I fhdl U A< d3 9 aEia B

(a) TEYFYH by g

(c) M (d) =9 I feelt 9 =81
fop g TS IR 3TeqTSH I IR ST & 2

(a) 1800-2000 HIEX (b) 900-1800 HIEX
(c) 2000-2500 HIEX (d) 2900-3500 HIEX
WRT BT YAH g HUS o IRIATT &5 Pl AT 2 2

() iR (b) T=Tedl (¢) gaxad (d) e FPER
WRd ¥ 31ferepier aui ured gl &

(a) SfRU-ufeer i A=Y g1 (b) <ied §U AT &R
(c) SR-YATAYA §RI (d) ThATAl gIRT
SIS Bl had ! AT ©

(a) IRVRAHE (b)) FORSHHA (c) TIREYRH (d) WRERH

o= 9 9 fpam v HiRidwTen areh &1 Sgrad fdhar o 2
(a) faformq i (b) o= iy
(c) 3lgoveR BfeH (d) S AT
I AT YR T ST IS (RTSAIRRTG) B Shadw=dr & forg ufkig 8 2
(a) BISIRA (b) M PiEc (c) RUTTHER (d) dFREST
fr=faRaa 9 9 &9 71 918 FHvdg A SfoetRad e o7 2
(a) ©IT (b) SIUS (c) <Im™H (d 7
FdeH gy §
(a) SMIfETRIe et & forv (b) ¥l & forg
(c) 9wl & forg (@) #feRi® form
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The copper coin called Jital was issued by

(a) Mohmmad-bin-Tughlaq (b) Alauddin Khalji
(c) Balban (d) Iltutmish

Who wrote Jahangir Chandrika ?

(a) Keshava Dass (b) Kishandas

(¢) Rammanohar Lal (d) Jadrup Gusain
During the Mughal period Mansabdari system was related to

(a) Justice (b) Trade

(c) Military administration (d) Religious affairs

Shivaji’s administration had

(a) Asht Adhayaksha (b)  Asht Sachiva
(c)  Asht Pramukha (d) Asht Pradhana
Mabhalwari system was related to

(a) Education (b) Land revenue
(c) Community system (d) Trade

In which of the following session of the Round Table Conference, did Indian National
Congress participate ?
(a) Second (b) First (¢) Firstand third (d) Third

The Federation of Indian Chambers of Commerce and Industries (FICCI) was set up in the
year

(a) 1937 A.D. (b) 1930 A.D. (c) 1920 A.D. (d) 1927 A.D.
Who founded the Indian Natal Congress ?

(a) Mahatma Gandhi (b) B.R. Ambedkar

(¢) B.G. Tilak (d) Motilal Nehru

Which party declared 16" August, 1946 A.D. as the Direct Action Day ?

(a) Swaraj Party (b) Indian National Congress

(c) Muslim League (d) None of these

Which of the following statements about the Simon Commission are false ?

1.  The Commission had five members.

2. The Commission had seven members.

3. Liberal Federation supported the Commission.

4.  Hindu Mahasabha opposed the Commission.

(a) 1land3 (b) only2 (¢) 2and4 (d) only3

Which of the following Act made a provision for setting up a Public Service Commission
in India ?

(@) Actof 1909 C.E (b) Actof 1935 C.E

(c) Actof 1942 C.E (d) Actof 1947 C.E
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STeT e d1 & Ryah BT STRT fham o

(a) HAIEHE-SA-FITeA® - (b) STATIEIN Raeron =

OEEGERE (d) SogarTrs

STERTR Tf gl BT oRgh BI AT 2

(a) PeEI™E (b)) fHIEE™ (c) RFFARRA (d) Sigd TErS
HITCT BTl ATHIGR SR e foeret oY

(a) <IY (b) TURA () AMEIIREA ()  ofid amHe 9
Rt F IRE A Y

(a) JICIIDY (b) I Al (c) I TH (d) 3 ue=
HEoTdTS! o<l AHf=erd off -

(@ ferd (b) Y- |

(c) WFEIRIS awelT | (d) TWURA

fr=farRaa 9 9 o TerosT IR (e H R TSI ST = 9T foray o 2
(a) fga (b) UIH () WMUEJa (d) Id™

TN I SFSTT T I B VS SS9l (fhabl) Bt TRATYAT Bl T

(a) |T1937S.H (b) |I19308.H (c) WI19208.H (d) 9I1927%.9
YRATI Tl BT B RATIAT fha Bl 2

(a) HETHT T (b) d).3R. ITSH

OEEISIARSED (d) AR 8%

foPd ST 71 16 SR, 1946 5. B el HRIATR! foaw Tt forar 2

(a) ARSI &l (b) AR ILIT BT

(c) ¥ e (d) TTHADIS TS

ATSHA HHIH & g F 79 § J BI F1/F B 3 8/ ?

1. HHRFATE I Y |

2. HHREHAN AT Y |

3. foraxa e 7 HHIRH &1 awed+ fohar |

4. T& wETHY A HHIIA BT fAR1E T |

(a) 13R3 (b) HIA2 (c) 27d4 (d) ®HIdA3

fr=faRaa § 9 foa Ffm gRT 9IRT # Udh Ald a1 SN 6l RATIAT 6T graen= fear
T2

(a) |T1909%. (b) |T1935%.%h

(c) WT1942%5. % (d) W|I1947S5.F
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In which year was the ‘All India Women Conference’ established ?
(a) 1905 CE (b) 1920CE (c) 1927CE (d 1930CE

Which of the following sub-caste is not based on place name ?
(a) Dobhal (b) Naithani (¢) Gururani (d) Joshi

Which of the following Rajput sub-caste is considered as a Suryavanshi ?
(a) Rautela (b) Pal (¢) Chand (d) Panwar

In the temple of a local deity of Uttarakhand, people appeal for justice through letters.
Which is that deity ?

(a) Golu Dev (b) Bokhnag (c) Haruheet (d) Manibhadra
Which local deity in Garhwal region is known as ‘Chalanda’ (wandering) ?

(a) Badrinath (b) Mahasu (c) Harjyu (d) Sirgul

Who composed the ‘Gadrajyavanshaka Itihas’ ?

(a) Mola Ram (b) Ratankavi

(¢)  Swami Shashidhar (d) Gumani Pant

Which of the following is not a folk-dance song ?
(a) Tandi (b) Thadya (c) Chaufula (d) Khuderh

Generally the time-span of the Kumbh-Mela in Hardwar, is considered to be
(a) Basant Panchmi to Ganga Dushera (b) Makarsankranti to Vaishakhi
(c) Mahashivratri to Ganga Dushera (d) Maghpurnima to Akshaya Tritiya

Who is the central character of Hiljatra folk play ?

(a) Lakhiyabhuta (b) Shiva (¢) Gaura (d) Ranbhuta
Which of the following is more famous for skiing ?

(a) Mussoorie (b) Nainital (c) Pindari (d) Auli
Which type of musical instruments are “Turi’ and ‘Ransinga’ ?

(a) Avananddha Vadya (b)  Sushirvadya

(c) Ghanvadya (d) Tatvadya

The prevalent term for ‘Alpana’, a folk art of Uttarakhand, is
(a) Aipan (b) Rangoli (c) Thapa (d) Jyunti

In which year the publication of ‘Garhwal Samachar’ did start ?
(@ 1900 A.D. (b)) 1902 A.D. (c) 1908 A.D. (d) 1918 A.D.

Which place of Kumaon is famous for ‘Rangwali-Pichhaurhi’ ?
(a) Almora (b) Haldwani (c) Rudrapur (d) Kashipur

To whom is the Devbhumi Dronacharya Award given ?
(a) Player (b) Coach (c) Referee (d) Captain of the team
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RIS IR AfSSAT FHT DT RATYAT b a9 g 2

(a) |I1905%. (b) WI1920%. (c) W|T1927%. (d) W|T1930%.
T & B ) TSI I & A IR MR SAIfy 781 & 2

(a) SIWTd (b) ST (c) TR (d) <ref
BIEEREIERINEE RSN UENIEIRI ISR

(a) e (b) Hred (c) d< (d) YR

ITRRITS & U WY Sadl & Hiex |, AN 95 §RT - S Y TR I © | 98 adr
DTS ?

(a) Tgaadr  (b) SRR (c) BoeN (d) =g
TTedTel A0S el H iG]l (A arel) & T A o AT SadT HI ST1 I § 2
(a) S (b) e (©) 'Y @ Rre
TGRTSIAL DT SRTERT BT a1 fosae Bt 2

(a) HATART (b) RaTTHIA (c) WHITRER  (d) A4
= 7 4 B a1 Apge M T8 § 2

(a) didl (b) el (c) gl @ g
AR W, BRER H HH Al bl FHITIE AT ST 2 :

(a) SAUGH! T TIRT AD (b) HHIGIT A JATET DB

(c) FETRIERI | T 98T IH (d) e gfvTT A 3fer g dh

TSI Ah-Ted BT =<1 YT B B 2

(a) dRgIga (b)) Rm@ (c) TIRT (d) Ua
1 3 9 19 THIST & o7y @1fdre ufig 8 2

(a) FGA (b) AT (c) fover (d) 3fren
IR 3R IR 5% TR & e § 2

(a) JETgard (b)) gRRAE (c) ©TaT (d) Tqar
STRIRIVS DI ATh-BHel ST & forv yaferd vres

(@ Ul (b) el (c) T @ o
ST FHATIR BT TBTe 5 q9 TRY a1 2

(a) |I1900%. (b) W|I1902%. (c) WT1908S. (d) W|T1918%.
FHIS BT B4 A1 I Larett UBEr & forg uRig 22

(a) 3reHTST (b) BegHl (© PR (d) ®rRIYgR
YA VTR YREBR 6 faT I 8 2

(a) fRaaEt®dr (b)) A D (c) B (d) <P B B
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Himalayan mountain system originated out of the following geosynclines :

(a) Ural geosyncline (b) Rocky geosyncline

(c) Tethese geosynclines (d) None of these

In how many districts of Uttarakhand the greater Himalaya is spread over ?

(a) 3 districts (b) 4 districts (c) 6 districts (d) 5 districts
Which one of the following is not a tributary of river Alaknanda ?

(a) Bhilangana (b) Pinder (¢) Mandakini (d) Nandakini
Which part of the Uttarakhand does receive maximum rain during rainy season ?

(a) Sub-Himalaya (b)  Outer Himalaya

(c) Bhavar (d) Tarai

Which one of the following is a major cash crop of Uttarakhand ?
(a) Fruits (b) Vegetables (c) Sugarcane (d) Tobacco

Out of the following crops which one occupies the major part of the net sown area in
Uttarakhand ?
(a) Sugarcane (b) Wheat (c) Rice (d) Pulses

Which one of the following combinations of the districts, shows the correct sequence of
magnesite deposits in Uttarakhand ?

(a) Bagheshwar, Pithoragarh, Chamoli

(b) Dehradun, Tehri Garhwal, Bageshwar

(c) Uttarakashi, Rudraprayag, Nainital

(d) Champawat, Udham Singh Nagar, Pauri Garhwal

The natural disaster that took place in Uttarakashi on 20™ October, 1991 was due to

(a) Landslide (b) Flood (c) Earthquake (d) Cloud-burst
The system of Chattis Rakam Battis Kalam was abolished by

(a) The Chand rulers (b) The Gorkha rulers

(¢c) The British administrators (d) None of these

Tarai district was formed in

(a) 1842 A.D. (b) 1839 A.D. (c) 1892 A.D. (d) 1857 A.D.
Tenth settlement report of Garhwal district was prepared by

(a) V.A.Stowell (b) E.K.Pauw (¢) H.G. Walton (d) J.J. Martin
The share of Zamindar in the harvested crop in Tehri state was known as

(a) Sawaniser (b) Rahdari (c) Prabhu Seva (d) Tihar
Who has the control over civil forests in Uttarakhand ?

(a) District Magistrate (b) District Forest Officer

(¢) Commissioner (d) None of these

Which of the following posts was hereditary ?
(a) Peshkar (b) Padhan (c) Tahsildar (d) None of these
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fEHATer T &Rgel B SR A - a=RT A A g3 -
(a) RIS Y-Fiht (b) TP YA
(c) <fy-a=fa (d) TTHADIS AL

ITRIGVS & [ el H geoR fZATer &1 e 8 2
(a) 3RTrH (b) 4 RTerH (c) e6fRTard (d) 5RrerH

o 5 B G TP STl B HeIH <] T8 8 ?

(a) TeTT by fiex (c) HeIp (d) e
STRIEE BT DI AT 9N IR H TS T I HRAT & 2

(a) YA (b)) TFRRATIT  (¢) IR (d) TS
71 H | B STRTEVE &1 U T Tha | Hhdd © 2

(a) el (b) fsr (c) =TT d) TP
=1 3 9 D19 Al el STRIGUS H Gl S o ATID T W H Gl S & 2

(@) =T (b) g (c) dmde (d) <l
1 5 A I |1 R7eT g SRS # {318 HUSRUI &1 Wl HH ST & 2
(a) 9MEER, fIRTTG, THel (b) <BRIgH, el Tedrd, arveaR
(c) STRBIRN, SGUITI, THIdTel (d) THTEd, SYARTETR, U] Tgdrd
20 JAFCAR, 1991 . DI IRBIRAT H 3ATg TPl ATIGT Bl BRI AT

(a) -¥dolq (b) dle (c) HqpH (d) dI&el-heHl
"B X H I DA Dl AT bl Sl [hT AT

(a) TQ AP A (b) TR AT A

(c) fafeer vemasi = (d) STH 9 ol 9 =72t

TS Tl &1 T3 farar Ty o -

(a) |T1842%.H (b) WI1839%.H (c) WI1892%.H (d) WI1857%.9

Teardt Tt & T9d Ao RUe dIR of oft

(a) AT (b) TH. U

(c) TASHN. dreeH (d) SIS HEIfeT

B heTs H fegd) RIrad & riid STHieR & o &l ded &

() WENMAR (b) IESN (c) gy=ar d) fEe
ITRIES ¥ Rifae a91 o= fhaeT iz eare 2

O IRSEIESIEEDRN (b) 7T a7 SrBRY
(c) g (d) TTHA DS TR
%=1 3 4 19 AT U ST RIes SIcm o7 2

(a) UIBR (b) YU

(c) dBdldER (d) TTHA DS W T8l
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Which of the following is a Kharif crop ?
(a) Manduwa (b) Paddy (c) Jhangora (d) All the these

Which of the following tribe of Uttarakhand is mainly involved in the sheep rearing ?
(a) Bhotiya (b) Raji (¢) Tharu (d) Boksha

G.B. Pant University of Agriculture and Technology was named in the memory of Govind
Ballabh Pant ?
(@ 1970 A.D. (b) 1972 A.D. (c) 1965 A.D. (d) 1967 A.D.

The wide scale movement for the abolition of Coolie-Begar Pratha on 13" January, 1921
A.D. took place at
(a) Karnaprayag (b) Dwarhat (c) Ranibag (d) Bageshwar

What is ‘Patha’ ?

(a) A traditional pot to measure the length.

(b) A traditional pot to drink water.

(c) A traditional pot to measure the quantity of grain.
(d) A traditional pot to measure the wool.

The term Mutthi is a unit to measure the

(a) Oi1l (b) Land

(c) Cloth (d) None of these

Who was the Speaker of the First Elected Legislative Assembly of Uttarakhand ?
(a) Prakash Pant (b) Harbansh Kapur

(c) Govind Singh Kunjwal (d) Yashpal Arya

In which district of Uttarakhand is Gairsain situated ?
(a) Almora (b) Bageshwar (¢) Chamoli (d) Rudraprayag

The President of India, who granted his consent, to the Bill of Creation of Uttarakhand
State was

(a) R. Venkatraman (b) K.R. Narayanan

(c) Shankar Dayal Sharma (d) A.P.J. Abdul Kalam

On the basis of formation, Uttarakhand is the

(a) 27" State of Indian Union (b) 26" State of Indian Union
(c) 28" State of Indian Union (d) 29" State of Indian Union
The Chief Justice of Uttarakhand who also became the Chief Justice of India :
(a) Justice Ashok A. Desai (b) Justice P.C. Verma

(¢)  Justice Barin Ghosh (d) Justice S.H. Kapadia

The number of Rajya Sabha members from Uttarakhand is

(a) one (b) two (c) three (d) five
‘Ganga Gai Mahila Dairy’ scheme was launched in Uttarakhand by

(a) B.C. Khanduri (b) B.S. Koshiyari

(¢) N.D. Tiwari (d) Harish Rawat
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= 49 B9 A Th TRI% BAd © 2
(a) Fedl (b) o (c) SFIRT (d I

)

ITRIGUS H 771 9 F DI AT SIS G Y A WS UTel H Heli = & 2
(a) wmfear (b) XTSI (c) o™ (d) ST

SI.dT. Ud BN gd HIRNRI! f[aeafaemery &1 fd= goai¥ ud & J18 3 AR (T T
(a) |I1970S%.H (b) |I19725.H (c) WI1965%.H (d) WHI1967%.H

Poll-9TR YT & I B Yo AT <l 13 STasl, 1921 5. DI gar AT
(a) HUTINH (b)) ERSICH (c) NFETTH (d) SFERHA

I T & 2

(a) THTS AU BT Uh YRTRS g

(b) U9 BT U IRARE g

(c) TS &I AT ATIS BT b IRFR B Tl
(d) T AU BT Uh YRURS Il

“GT T AU B U D[S ©

(@) qAD b 9FF

) DISH (d) T A b TS
STRRIUS B YUH FaTfre fIem quT &1 3redel Bie o1 2

(a) YPrIgd (b) BEIA PR

(c) Tfa~= e Horard (d) IeTaTe M

ITRIITS b g RTel § IR01 fR_T & 2

(a) JfcHISI (b) qNIER (c) HIel (d BEHITI
IIRTEGUE 1Y HAT0T et Bl 31 FBiT < dTel WIRA o IS afr o
(a) 3R. JHCIHI (b) H.3MR. ARTIUH

(c) PR &ITSA IHT (d) QYL g A

TS & IMYR TR IIRTETS &

(a) YR " BT 27d1 g (b) YR Y BT 2601 15T
(c) YRR Y BT 28d1 15T (d) YRR Y BT 29dT 15T
ITRIGUS o I ATATT S WA b J& AT | T+

(a) IRFN 3R Q. 39T (b)y =greRpfc AT,

(c) IR AR =1y (d) =IRE TH.TE. duTfear
SIRIGUS I 5T FHT TSl 6l =1 8 _
(a) TP (b) < (c) o (d) U
SRTGUS H TN 7Y Al el ST AT AN Bl T8

(a) AL GUGH ERT (b) d1.79. BRI R

(c) TASLfEaRgrr (d) BIRIGT gRT
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Who was the first Chairman of the Uttarakhand Public Service Commission ?

(a) N.P.Navani (b) S.K.Das

(c) Lt. Gen. G.S. Negi (d) Lt. Gen. M.C. Bhandari

Who is the propounder of the ‘Green School” concept ?

(a) Sachidanand Bharti (b) Virendra Rawat

(c) Jeet Singh Negi (d) Govind Lal Shah

Tiladi massacre took place on

(a) 30™May 1930 C.E (b) 20™May 1932 C.E

(¢c) 30™May 1931 C.E (d) 30™May 1929 C.E

Which sect did not register its entry at all in Uttarakhand ?

(a) Kabeer Panth (b) Satynath Panth

(c) Vairagi Panth (d) Nastik Panth

Which of the following combinations is not correct ?

(a)  Srinagar — Ajaipal (b) Tehri — Sudarshan Shah

(c) Almora — Kanakpal (d) Chandpurgarhi — Bhanupratap
Where did the Mughal Prince Suleman Shikoh take shelter out of the followings ?
(a) Garhwal (b) Kumaun (c) Nepal (d) Himachal
The King of Garhwal who was killed after being defeated by Gorkhas was

(a) Sudarshan Shah (b) Pradyumna Shah

(c) Pradeep Shah (d) Fatehpati Shah

Paun-Tuti was

(a) Anidol (b) A coin (c) Atax (d) A building
Who among the following was not a freedom fighter ?

(a) Gaura Devi (b) Mahaveer Tyagi

(c) Govind Ballabh Pant (d) H.N. Bahuguna

Which of the following combinations is not correctly matched ?
(a) Lansdowne — Garhwal Rifles

(b) Ranikhet — Gorkha Regiment

(c) Dehradun — Indian Military Academy

(d) Chamba — Gabar Singh Memorial Monument

Which of the following places is a famous Muslim religious place ?

(a) Kailapeer — Budha Kedar (b) Peergaddi — Devalgarh
(c) Peeran Kaliar — Roorkee (d) Sidh Bali — Kotdwar
Which of the following pair is correctly matched ?

(a) Jim Corbett — Politician (b) B.D. Pande — Historian
(c) E.T. Atkinson — Artist (d) Mohan Upreti — Engineer
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(a) T Tar (b) THAF.TN

(c) LS. ST, 70 (d) .5, T yueR)

U Wpof B TR BT HIITGD DI © 2

(a) IR ARG (b) fR=aq

(c) Sftafag =+l (@) Mfa< e omE

fererST wR¥ER afed garm o

(a) 309s,1930%. Pl (b) 209S, 1932 F. Pl

(c) 309s,1931 3. P! (d) 309S,1929F. Pl

ITRIRIUS H fpsg der 7 Ha1fd 3=l Ufaee! g<f 98] BrIs 2

(a) HIRTY (b) AT U (c) ORI U (d) AR 9
=1 5 A I a1 g7 H el el © 72

(a) TR — 3roTauTe (b) feadt — gaeiems

(c) ITHIST — HARITA (d) TEYRIS — WYY

71 5 A BT T TTGHAR Gl RIBIE = 2R07 1 off 2

(a) T (b) PHG (c) HUTet (d) feaTe

TTEATe BT TSI, S RGN FIRT IR SR g H AR AT 2T, AT :
(a) YEIRME  (b) UE[ENE (c) USIeE (d) HIEYIeE

qor-gt oft

(@) U YR (b) T Rianr (© TP (d) VP AR
forifra 5 | B9 T AT el o7 2

(a) TRTSEN (b) HEERINT  (¢) TNI<TeaAvUd (d) T.UA. IgI00
7 # & B A1 g GAfora T B 2

(a) TISTHT — AT NsHed
(b) T — TRET o<

(c) TBYIGH — WRR U= SrehIeH!
(d) =T — TTERINE Wi RS

1 5 A B |1 2 uRig gRes anfiies w1 7 2

(a) HATIR — FThaR (b) URIEN — ITATS
(©) URT BferaR — Tgal (d) frgdel —PIegr
=1 A P19 |1 g7 el gAferd 2 2
(a) o™ Pide — Jorifas (b) 1.3 Ue — shEaR
(c) 3.3 tefr~gd — BTPpR (d) HET U — S7fIRIaT
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Tenth World Hindi Conference was held at
(@) New Delhi (b) Bhopal (¢) Wardha (d) Raipur

‘SAT’ is related to
(a) Space (b) Science (c) Defence (d) Sports

The software, which allows you to view the webpage, is called
(a) Website (b) Web Browser (c) Interpreter (d) Operating System

Which of the following is not an output device ?
(a) Plotter (b) Printer (c) Monitor (d) Scanner

In fiber-optics, the signal source is :

(a) Light waves (b) Sound waves (c) o-rays (d) Cosmic rays

In processing cheques which of the following I/O techniques do the banks, generally,
follow ?

(a) OCR (b) MICR (c) Barcode (d) VRT

Which of the following is not a scalar quantity ?
(a) Time (b) Volume (c) Density (d) Momentum

Polio is caused by
(a) Fungus (b) Bacteria
(c) Virus with single stranded RNA (d)  Virus with single stranded DNA

The gases, responsible for the acid rain are
(a) SO, and NO, (b) Neand Argon (¢) Neand He (d) H,and He

The metal present in Vitamin B, is :

(a) Cobalt (b) Magnesium (c) Iron (d) Copper

The first commercial product produced through genetic engineering is
(a) Paracetamol (b)  Aspirin
(c) Insulin (d) None of these

Which of the following terms is related to rearing of honey-bees ?
(a) Sericulture (b) Pisciculture (c) Tissueculture (d) Apiculture

According to Urban Development Ministry of Government of India which city has been
declared the Cleanest City of India for the year 2014-15 ?

(a) Bengaluru (b) Mysore (c) Shimla (d) Dharamshala
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T foeg fawt A=yer smafTd fopam Ty o

(a) Tsfaeell®d  (b) wIUTAH (c) @uid (d) IIRHA
‘IS’ (TF.T.37Ts.) GHfd &

(a) SR (b) fasm=w (c) & (d) "I

g ATFCAIR, ST 3MMTDT 99 UST fSaTan 8, heolidl &

(a) d9Y9TST (b) dI TSR (c) Fexilex (d) TR RIeH
7 % & I 1 3e e fearsa el ¥ 2

(a) TR (b) fiex (c) HIfex (d) THR

BISR-ICaT H, b A &
(a) UBRTTRIA (b)) @fadl (c) 3T fpvu (d) HID B

b THTINYA UfhaT & SR §6, IRTURS ®Y I, /4 § F B9 AY 78/ Ih-1d BT
TRV I & 2

(a) SMIMIIR. (b)) THIMSHIMR. (c) IRPIS (d) AR
e § A 39 v srfegr I i 2 2

(a) I (b) IMIAT (c) H©d ORISR
NN BT HRS ©

(a) ®pa (b) SR

(c) Udhd IRYH AR.GA.Q. Gl fauY]  (d) Tebel ARG S1.G.T. aTeAT fauT9]
3T 9T &b foTu e R I &

(a) SOZQE'[NO2 (b) NeQETGTITi_“T (c) NeUdHe (d) HZQETHe
faerB,, H feemm arg 8 :

(a) IETeS (b) TEIRRM (c) &l (d) drEr
3R SIS & wreaw & SeuTfad yem aiftrfss Sare &

(a) IR (b) TR

(c) sgfer (d) 9 PIs W 8]

=1 gl A 3 foraep! Tve AgHRII-ITe 9 & 2

(a) Whea® (b)) RiHeR (c) TR (d) TVdeaR
HRA WBR & e [THRT H37ed & §RT, 99 2014-15 & oIy, fHd IER B IRT &
T IEx aIfvd fhar T g 2

(@ 9TI (b) R (c) forer (d) eFTe
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PART - 11
GENERAL APTITUDE TEST

A number when divided by 357, leaves a remainder 39. If the same number is divided by
17, the remainder will be

a 0 (b) 3 (¢) 5 d 11

If A stands on his head with his face towards North, in which direction will his left hand
point ?

(a) North-East (b) North-West

() West (d) East

If the altitude of a triangle is increased by 10% while its area remains the same, its
corresponding base will decrease by
(@ 9% (b) 9i% (c) 10% (d) 111%
1 1 1 .
+ + e + is equal to
Ix2 2x3 3x4 10x11
10 11 12 109
(@ — (b — © — d —
I 1 1.
If2 =3 =6 ,then —+—+—is equal to
Xy z
@ 2 0 1 © 0 @ -
2 2

In the following expression, select the correct combination of mathematical signs to
replace * in order that the resulting expression becomes true :

16 %2 %24 %3 %6

(a +=-+ b x-+= c) ++=+ d --+=

Consider the following equation :

30-6+4+2x 3=7

Which interchange of signs, among the following, will make the above equation correct ?
(a) +and X (b) —and+ (¢c) —and+ (d) +and~+

A chemical solution contains 30% water and 70% Alkali. What quantity of water should
be added to 6 litre of solution so that water content becomes 40% ?
(@) 900 ml (b) 1000 ml (¢) 500 ml (d) 700 ml

Sushila ranks 73" from the top in a class of 183 students. What is her rank from the
bottom ?

(a 110 (b) 111 (c) 112 (d 113
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AT i aXiero

U T BT 357 F 9IT < UR 39 Y g9 8 | Afe ST A1 Dl 17 3 917 f&ar Srg, o o
CER

(a 0 (b) 3 ) 5 @ 11

Ife A 399 RIR & 901 WeT BT 3R STHT I3 SR B 3R B, I SART 91T 812 fohy ferem
DI 3R BTN 2

(a) SR-d (b) STR-ufTEH (c) ufeaw d d

foreft st &1 $a1$ 10% T¢1 AT SIM W 9 MR H Bt &t amgeft, afs st &
&% of THTH 32 ?

(@ 9% (b) 9%% © 10% (d) 11%%
Lo by bt S
1x2 2%x3 3x4 10x11
@ ® U © 2 @
3%2X=3Y=6—Z,a>rl+l+la»—mﬁ%ﬁ7n
X y z

3 1
(a) 5 (b) 1 © 0 (d) EY
fererforRad 2ot ¥, * & I IR T fRIei &1 Il | Bichy 339 TR flkau fe
IRUTE 2oTh I 8 -
16 %2 %24 %3 %6
@ +=-+ (b) X -+ = ) ++==+ d --+=
frforRad I IR fa9R ST

30-6+-4+2%x 3=7
fr=forRad o 9, oI A Frel &1 I IeofTd, S UR ST U HIHR0T Bl Fet =TT 2
(a) +dATx (b) —dUAT+ (c) —dUAT=+ (d) +7Ta1T+

U IS it § 30% U 3R 70% &R BIdT § | O+ &1 fha=1 A1 6 fofex gidt #
ARl STy TRy et § 9T+ 40% &1 5T 2
(@) 9o0ofdel. (b)) 1000 fAe. (c) 500 fir.af. (d) 700 fir.ef.
183 faenforal o1 FHe & Feiell & W $HUR A 7331 § | 11 J IHHT WA R 8 2
(a) 110 (b) 111 () 112 @ 113
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In a bag, there are three types of coins — one rupee, 50 paise and 25 paise in the ratio 3 : 8 : 20.
Their total value is ¥ 372. The total number of coins is

(a) 961 (b)y 744 (c) 612 (d) None of these

If RAM = 49 (coded)

SHYAM = 69 (coded)

then RAHEEM = ? (coded)

(@ 79 (b) 89 (c) 100 (d 112

Flowers in a basket become double in every two minutes. If the basket gets full in

1l hour, then in what time, the basket will be half-filled ?

(a) 45 minute (b) 68 minute (c) 78 minute (d) None of these

Words given below have some common property supported by one best reason given as
one of the alternatives. What is that alternative ?

SQUARE, RECTANGLE, PARALLELOGRAM
(a) They are figures.

(b) They represent areas.

(c) They are four sided figures.

(d) They are used in Geometry.

If, Monday + Tuesday = 5 (coded)

Tuesday +Wednesday = 13 (coded)

Then Wednesday + Thursday = ? (coded)

(a) 25 (b) 18 (c) 15 d 14

A tank can be filled with water by two pipes P and Q together in 36 minutes. If the pipe Q
is stopped after 30 minutes, the tank is filled in 40 minutes. The pipe Q can alone fill the
tank in time

(a) 60 minutes (b) 70 minutes (¢) 90 minutes (d) 100 minutes

What will come next (?) in the following series ?

e
@ /\ v o O @ [=]

What conclusion follows from the following two statements ?

L All A’s are B’s

II. AllB’sareC’s.

(@) AllC’sareB’s. (b) AllB’sare A’s.
(c) AllC’sare A’s. (d) AllA’sare C’s.
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T At H, I ThR & Rad & — U 0 &, 50 U4 &, 25 T & 71 Amafi o1 iurd
3:8:20% | Riapi &1 pod o R 372 8 | FHTDI &l ol T &
(a) 961 (b) 744 () 612 (d) TH A PIs &I

IfE RAM = 49 (e HINT )
SHYAM = 69 (g 4TS H)

dl  RAHEEM = ? (§C 49T )
@ 79 (b) 89 (c) 100 (d 112

forRi) T 1 ¥ et B 1 FFTE ST RY T ¥ 19 13 B el g R o 8,
o™ |7 3 crant amel} - g8 2Rt 2

(a) 45fe (b) 68 e
) 78T (d) FTHADIS TR

T e M orest A U | o7 iR 7 S 6 AU T fAaedt § 9 ua 9des ad g’
T UTaT B | 98 fameg R e 2

A, 3T, FATIR TGS

(@ JINF=E (b) IR ETFATIATE |

c) IIM IR Yo o= g | (@) IR IARTT IR A ML |

Ife, FHAR + FIATR = 5 (e 9T #)
AR + AR = 13 (P HIT )
Al UAR + THAR = ? (BT 9T ¥)

(a) 25 (b) 18 () 15 @ 14
TSI TSY P JAT Q U S Bl Tk AT U+ A 36 e § MR ol © | Ife 159 Q, 30 e a1

ge PR T S 2 AT S 40 e § R ST 8 1 78T Q 37l &1 ¢ WX Fhell &
(@ 60 cd (b 70fFcH () 90fecH (d 100 fFeH

ferrforRaa Sroft 7 31T (2) T 31T 2

I

@ /\ v © O @ [
T foU Y 1wl @ w7 kY herdr g 2

. 9fA,BEI

. 9fiB,cel

(@ 9HIc,BEI (b) THIB,ATI (c) 9HIC,AT | (d JNA,CE
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The numbers on an ordinary die are so marked that sum of numbers on opposite faces is
same. What can be the minimum difference between the numbers marked on any two
opposite faces of such die ?

@ 1 (b 2 (c) 3 (d) None of these
Statement : If you are a good writer, we definitely have a film for you.
Conclusions I : You are a good writer.

I : We are in need for a good writer.

(a)  Only conclusion I follows.

(b)  Only conclusion II follows.

(c) Both conclusions follow.

(d) Neither of the two conclusions follows.

Presently, ages of Nishu and Vijay are in the ratio 6 : 5. After 9 years, this ratio will be
9 : 8. What is the difference in their ages presently ?
(a) 3 years (b) 5 years (c) 7 years (d) 9 years

Karishma is taller than Kajal, Kajal is taller than Vimla. Ankita is taller than Kajal and
Vimla. Who is tallest amongst them ?
(a) Karishma (b) Kajal
(c) Ankita (d) Cannot be determined
If 120 is 20% of a number, then 120% of that number will be
(a) 120 (b) 360 (c) 720 (d) 960
Find the number * in the addition problem given below :
4 3 2
6 6 7
1 * *
12 =« 3
@ 1 (b)y 2 (c) 3 (d) None of these
The next number in the series
1,4, 14, 46, 146, ............
(a) 440 (b) 454 (c) 520 (d) 554

In how many different ways, the letters of the word ‘DAILY’ be arranged to form
different words irrespective of the fact that the words have meaning or not ?

(Repetition of letters is not allowed.)
(a) 48 (b) 60 (c) 120 (d) 160

Sarita was asked to multiply a certain number by 36. By mistake, she multiplied it by 63
and got the answer, 3834 more than the correct one. What was that number ?

(a) 126 (b) 142 (c) 152 (d) 163
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foreft AT U § 37 39 UBR ford T © b fAusid Bofebl & 37hl T AT 9HE © | 59
U & forgl g1 fIusid waten! (T) IR <ifehd Al # R TR 1 81 el 2 2
@ 1 (b) 2 © 3 (d) TTHABE TSI

HAA IS 31T UH 3T oI d =, R Ui f1fead 2 amuds forg vas e 7 |
Py 1 : MU THIDALGD T |
I : B UFH AW oGP $l AIHATR |
(@) PHad ey [ Fpadrg |
(b) Had ey I Fpaare |
(c) <l frepy et 2 |
(d) THIHIBIs A fepy 981 fFrpaare |
AT H, 9] 3iR IS & 311g 1 AU 6: 5 8 | 9 TN U] I8 AU 9 : § BT S |
AT H G141 BT ARG H AT <R 8 2
(@ 399 (b) 599 () 799 (d 999

HREAT, BIoT A T 8, BIoTd, faHl I ot & | 3ifhdl & TS BIote 7 fae I s1fdrd
2 1ST AT H B I oI T8 ?

(a) BRZAT (b) BIol

(c) aifdpar (@) FreiRa 72t foran 5 aa |

e fordY TR BT 20% 120 B, AT I AT BT 120% BT

(@ 120 (b) 360 (c) 720 (d) 960

St & F=fIRad we= 7 * &1 719 fya1ferg

4 3 2

6 6

1 ES ES

12 * 3

@ 1 (b) 2 © 3 (d) TTHABIS B!
ot 1, 4, 14, 46, 146, ...... BT ITAT P &

(@) 440 (b) 454 (c) 520 (d) 554

915 ‘DAILY’ & 31&R] &l - v1eg g9 & foTv fhaw IR & forar 51 9 8 159

oY DI TSRIGTS B §Y (b STl D1 31 © AT 781 2 &R bl YARIGRI 81 8141 ARV |
(a) 48 (b) 60 c) 120 (d 160

JRaT I T deam Bl 36 A TN B & fIY HBT 11 | G o] 3, I G&AT Bl 63 |

ToTT foRT 31R IR, el SR 4 3834 31feres ure o | o e i ot 2
(a) 126 (b) 142 ) 152 (d 163
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If ‘= means ‘+’, ‘X’ means ‘+’, ‘=’ means ‘X’ and ‘+’ means ‘-, then40 ~+20 -4 +8 X 6
is equal to
(a) 120 (b) 140 (c) 198 (d) 202

The angle formed by the hour hand and the minute hand of a clock at 2:15 p.m. is
(a) 22l degree (b) 27l degree (¢) 30 degree (d) 45 degree

The digit in the unit’s place of the integer denoting the sum

L+[2+3+|as o +]20

(@ O (b 1 c 2 d 3

In a football league of 25 matches, four points are scored for a win, two points for a draw
and one point is subtracted for a defeat. If one of the team ends the season with 17 points
and remains unbeaten in 40% of its games, then how many matches were played as draw
by that team ?

(a 4 (b) 6 (c) 8 (d 12

The arithmetic mean of two numbers is 9 and their geometric mean is 6. Their harmonic
mean will be

(@) 3 (b) 4 © 3J6 @ 7.5

The value of
1 1

1
NERETSE RN
is
(a 3 (b) NE) ¢ 0 (d) None of these

It is 9:30 a.m. now. Due to some fault, hour’s hand of the clock sticks to its present
position whereas minute’s hand continues to move at its normal speed. What will be the
angle between two hands of the clock after half an hour ?

(a) 30° (b) 45° (c) 60° (d 75°

Consider the statement and the assumptions given below and decide which of the
assumption(s) is/are implicit in the statement ?
Statement : Unemployment allowance should be given to all unemployed Indian
youth above 18 years of age.
Assumptions I : There are unemployed Indian youth who need financial support.
II: The government has sufficient funds to provide allowance to all
unemployed Indian youth.
(a) Assumption I is implicit.
(b)  Assumption II is implicit.
(c) BothIand II are implicit.
(d) Neither I nor II is implicit.
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afg = B 2 B X BT 4 B, 2 BT o B, TAT 4 BT AT = B/, Al
40+20-4+8x 6H R T
(a) 120 (b) 140 (c) 198 (d) 202

SIUER 2 oaR 15 e IR e oS! &l € Bl s d A B Yg & d1d Bl BHIvf &

(a) 22%%311 (b) 27%%311 (c) 30fsH (d) 45

[L+[2+[3+][4+ . +[49 & B & qUITE H SHTS P YA UR S AT 3 ¥
@ O (b) 1 © 2 d 3

i) pearer ol & 25 el H, Sfid & R 3ih, SRERT () P 2 3fh [Held & 3R TR B Uh
3 dwedl 2 | IS 3rafdy o Ty uR fhedt g <M & 17 3i 81 iR 98 40% 41 § 8RY =1
&I, I I9h b 79 IR (FN) W Be ?

(a) 4 (b) 6 c) 8 d 12

ST 13T T FHTR ALY 9 B AR ITh] YUIKIR AT 6 8 | STh] BIHD HIE BT
@ 3 (b) 4 © 36 d 75

A g

1 1 1
E+3+\/§+\/§_3Eﬂ-
@ 3 b) 3 © 0 d) TTHADE TE

9 9HY UTd: & 9:30 I91 & | fBdl Ffeqwr, €@ arell Gs U1 aoar [RART W &1 Sl I8
SIH 2 Sidfe e arell gg 31U+ G TR I Fecd! ¥ed! © | MY €S d18 gt bl gl
g1 & e foa=T1 HIoT S 8T 2

(a) 30° (b) 45° () 60° d 75°

FrfeRad e 3R qaerRumsll o1 &9 H @ §U I8 dd1sy DI Al JAERN/JagROMY
BT H AT B/8 2
DY : 18 aY BT MY & HUR b FHI IRISHR R JaT3i DI SRISHRT T et
MY |
Q@URIT: [ YR H SRISTIR AT & 18 AT Ae Tl 1 ATqegehl & |
1. F7 RISFIR AR arsil &l <l o7 & oY SRR & 1 oI g

ST B |
(a) YIUROMI AITE T | (b) IR I T |
(c) TIIITII3MITETE | (d) TI, T MTEAR |
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Ram starts from a point and walks 10 km towards North, turns right and walks 15 km,
turns left and walks 8 km, turns towards south and walks 25 km. He again turns right and
walks 15 km. In which direction is Ram going now ?

(a) East (b)  West (c) North (d) South

A is the brother of B; B is the brother of C; C is the husband of D and E is the father of A.
D is related to E as

(a) sister-in-law (b) sister (c) daughter (d) daughter-in-law

The adjoining pie-chart shows the land distribution of a housing complex. If the total area
of the complex is 5 acres, answer the question given below :

Question : Land allotted for green zone is greater than that for commercial purpose by
how much ?

Commercial

arca ‘
‘W
108°

Road area

(a) Eacre (b) 2acre (c) iacre (d) Eacre

Consider the pair of words given below :
Geeta : Quran

Choose the pair of words from the options given below, having the same relationship/
analogy as in the pair mentioned above.

(a) Army : Defence (b) Temple : Worship
(c) Orange : Mango (d) Good: Man
A man can row 6 km./hr. in still water and the river is flowing at 4 km./hr. If the man

takes 1l hrs to row a place and then back, how far is the place ?
(@) 2.5km. (b) 2.6 km. (¢) 3.5km. (d) 3.6km.

Introducing a man, a woman said, “His wife is the only daughter of my mother”.
How is the woman related to the man ?
(a) Mother-in-law(b) Wife (c) Aunt (d) None of these

If X>Y and X + Y > Z, what mathematical relation exists between Y and Z ?
@ Y>Z (b)) Z>Y ) Z=Y (d) None of these
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135, I forell R A IR =M BT @R 10 .47, Fefan 2, R i &R geax 15 f6. M. T g,
R IrY 1R e 8 .Y, Ferar 2, R feror o 3R e 25 .. geran & |1 a8 R
ST 3R G R 15 .71, TeAc & | I o1 fhe ez A a1 g 2

(a) T (b) ufeeH (c) BN (d) <féro

136. A BB WS S, B,CHUES S, C,DBIURTE IATE, A BT U1 | D, E I 59 UbR THd
g
(a) <axm (b) w&F ) g (d) gAY

137. | UTS AT H o ST BHIFetad H STHIA & fIaRT a1 7131 & | IS SIeeiad &1 $o
B 5 Ths g1, dl fAefIRad U3 &1 SR SIfT
T3 : BT & BT Aol ATIATRID I3 &b &bl I foha-r 31firep & 2

138. f=IfeiRad 2rea-gvd WR fa=R BIfvg
TﬁﬂT:W
1 fod ) faeredl H 9 99 S1es-g7H 1 gAY Sl SURGIUIT Srea-gw 3 a8 a4 @ o/
P AR T
(a) AT GRET  (b) AR ST (c) =R :3MH (d) 3TBT : IMSHT
139. $& U UM H, TS Afax 6 BT ufer €21 &t i | il Iel Fhal & | &l HI T
4 fpHi/eer 8 1 IfS 98 AT 1% 8¢ 9 Toh I I G- I IR SIaR 199 diedl 8, al

ST I & 1 fha g & 2
(a) 2.5 f®HT (b) 2.6 f&HHT (c) 3.5f®HT (d) 3.6 f&HT
140. TP iR BT IREI S §Y, U AT 7 Bal, “gAD! Uil 741 Al DI geballal] AT 2 1 Afgel
BT I AT A 5T TR BT T 8 2
(a) <N (b) TN OEEIE (d) $TH A PIs &I
141. IR X > Y TAX+Y > Z Y TAT Z H RIT IO T & 2
(@ Y>Z b Z>Y © Z=Y (d) $TH A PIs &I

VSP 27 Series-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

142.

143.

144.

145.

146.

147.

148.

149.

150.

247

If ‘MAN’ is coded as 415, then ‘FIVE’ is coded as
(a) 6925 (b) 6945 (c) 6845 (d) None of these

A candidate who scores 30% fails by 5 marks, while another who scores 40% gets 10
more marks than the minimum pass marks. The minimum marks required to pass are

(a) 40 (b)y 50 () 55 (d) 65

If 2=5 (coded)
4 =18 (coded)
6 =39 (coded)
then 10 = (-) (coded)
(a) 45 (b) 81 (c) 104 (d 105

If the word ‘MUMBALI’ is written as ‘KSKZYG’, then ‘CHENNALI’ is written as
(a) AFCLLYG (b) AECLLYG (c) AFCMMYG (d) AFDMMYG

What is the number, missing (?) in the third column ?
4 8 15
13 26 (7
40 80 147
(a) o4 (b) 51 (c) 48 (d) 45

How many triangles are there in the following figure ?

(@ 10 (b) 11 (c 12 (d 13

If the average of m numbers is n? and that of n numbers is m?, then the average of such
m + n numbers is

() mn (B m+n © = @ =

Which number would replace the question mark in the following sequence ?
2,7,14,23,7 47

(a) 27 (b) 34 (c) 38 (d) 43

If38 - 15 =32 (coded

and 62 — 91 =7 (coded)

then 74 — 81 = (-) (coded)

(a) 353 (b) 38 (c) 30 (d 29
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I MAN’ BT 415 IS fhaT ST a1 ‘FIVE’ BT Bls fohaT ST
(a) 6925 (b) 6945 (c) 6845 (d) STHIADIS T8

T 3RIT 30% T PR UR 5 37l | Il BIT &, STdfch TR 40% 3 U TR =IAH
IO 3iepl A 10 37eh AT UTeT & | SN0 B b oI =G| 3eh &
(a) 40 (b) 50 (c) 55 (d 65
i 2 =5 (P WI9TH)
4 =18 (Pc W )
6 = 39 (Pc W )
a1 10 = (—) (P 99T H)
(a) 45 (b) 81 (c) 104 (d 105

I Ieg ‘MUMBALI &1 ‘KSKZYG’ foRgT S1a1 & d ‘CHENNALIL &1 forar Sreem
(a) AFCLLYG (b) AECLLYG (c0 AFCMMYG (d) AFDMMYG

<R T ¥ o T (7) FT R 2
4 8 15
13 26 @)
40 80 147
(a) 64 (b) 51 (c) 48 (d) 45

frforRaa sl 3 foram e & 2

(@ 10 (b) 11 (c) 12 (d 13

Ife m RT3 BT AT n2 & TAT n G377 AT m? &, T TH m + n A3 BT 3
I
m m+n

(@) mn () m+n © @ 5

FrforRad a1gepH H TeaTad e & U IR BI AY T=A1 811 2
2,7,14,23,7, 47
() 27 (b) 34 © 38 d) 43

gfe 38— 15 = 32 (e HINT )
3R 62-91 =7 (Pc HINTH)
dAl 7481 = (—) (He W H)
(a) 53 (b) 38 © 30 (d 29
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